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KAYAK PURCHASE DATABASE
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1. CREATE FOUR TABLEs-- KAYAKS, CUSTOMERS, PURCHASES, and DISCOUNTS--given the following information: 

You may pick arbitrary data types for the attributes (NUMBER, VARCHAR2, DATE, etc.)
Be attentive to the order in which you create the tables….

· Create tables with foreign keys AFTER you’ve created the tables with the referenced primary keys. 

· Create association classes (with composite primary keys) AFTER you’ve created the tables with the referenced primary keys. 

TABLE KAYAKS (Kayak ID, Kayak_Manufacturer, Kayak_Model, Kayak_Year, Kayak_Length, Kayak_Type (touring, sea), Kayak_Price) 
TABLE CUSTOMERS (Customer ID, Customer_last_name, Customer_First_name, Customer_Street, Customer_City, Customer_State, Customer_Zip, Customer_Phone) 

TABLE DISCOUNTS (Kayak ID, Customer ID, Discount_percentage) 

TABLE PURCHASES (Purchase ID, Purchase_Date, Purchase_Time, Purchase_Total) 
Business rules: 

--A single kayak can be purchased only by 1 or many customers; a single customer can purchase zero or many kayaks.
--A customer can make zero or many purchases; a single purchase is completed by only one customer. 
--Discount percentages are tracked for all customers who purchase kayaks. 
--Once a year, the database automatically computes the total purchases of kayaks for each customer each year, as well as the customer's yearly discounts on any kayak. 

--------------------------------------------------------------

2. DESCRIBE the tables KAYAKS, CUSTOMERS, PURCHASES, and DISCOUNTS

---------------------------------------------------------------

3. What is wrong with the following SQL table creation command? What does the Oracle 10g error message tell you? 
SQL> CREATE TABLE kayaks

  2  (kayak_ID number (6),

  3  kayak_manufacturer varchar2 (26),

  4  kayak_model varchar2 (26),

  5  kayak_year char (4), 

  6  kayak_length number (2), 

  7  kayak_type varchar2 (26),

  8  kayak_price number (9)
 10  CONSTRAINT kayaks_kayak_id_pk PRIMARY KEY (kayak_id); 
*

ERROR at line 10:

ORA-00907: missing right parenthesis

--------------------------------------------------------------------------

4. DROP TABLES kayaks, customers, purchases, and discounts

Question: In which order must you drop the reports?  Why? 

KAYAKS


Kayak_ID


Kayak_Manufacturer


Kayak_Model


Kayak_Year


Kayak_length


Kayak_Type (sea, touring)


Kayak_Price





CUSTOMERS


Customer_ID


Customer_Last_name


Customer_First_name


Customer_Street


Customer_City


Customer_State


Customer_Zip


Customer_Phone





DISCOUNTS


Customer_ID


Kayak_ID


Discount_percentage





Compute_Total_purchases (  )


Compute_Yearly_discount (  )





1..*





0…*





PURCHASES


Purchase_ID


Purchase_Date


Purchase_Time


Purchase_Total








Compute_Yearly_discount (  )








0…*
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